    Урок «Сложение и вычитание многочленов» Приложение 1
· Решите уравнение:

(33 + 3х) + (8х – 41) = 15

· Решите уравнение:

(19 + 2х) – (5х – 11) = 15

                             ** Решите уравнение:

                                3,2у – 1,8 – (5,2у + 3,4) = - 5,8

                              ** Решите уравнение:

                              1 – (0,5х – 15,8) = 12,8 – 0,7х

                               *** Решите уравнение:

                               3,8 – 1,5у + (4,5у – 0,4) = 2,4у + 3

                               *** Решите уравнение:

                                4,2у + 0,8 = 6,2у – (1,1у +0,8) – 2  

· Решите уравнение:

                              (2х – 7) + (6х + 10 = 18

· Решите уравнение:

                            24 – (5х + 4) = 20

                             **  Решите уравнение:

                              (4 – 8,2х) – (3,8х + 1) = 5

                                ** Решите уравнение:

                              (2,8 + 5,4х) – (4,2х – 2) = 9,6

                                 ** Решите уравнение:

                              5,1у – 3,2 – (7,2у + 4,2) = 3,1

                                 **   Решите уравнение:

                                 4 – (2,3х – 11,3) = 7,8 – 0,8х

                                  *** Решите уравнение:

                               4,5 – 3,1у + (7,3у – 0,7) = 2,1у – 4,6 

                                   *** Решите уравнение:

                              4,7у + 2,6 = 4,2у – (2,1у + 0,3) – 2,3    

